
The Kalam Cosmological Argument 
 

The Cosmological Argument attempted to prove that, regardless of whether or not the 

universe has a finite past, it requires a cause that is outside of the universe. But, imagine 

that we could prove that the universe DOES have a finite past? What if the universe just 

popped into existence one day? Wouldn’t this require an explanation? The theist argues 

that it does. 

 

1. The Argument: The Kalam Argument is as follows: 

 

1. Whatever begins to exist has a cause. 

2. The universe began to exist. 

3. Therefore, the universe has a cause. 

 

2. Premise 1: Whatever Begins to Exist Has A Cause: Craig thinks that the first 

premise is intuitively true. Note that it is a version of PSR. But, is it true? 

 

Objection: Contemporary physics has disproved the claim that everything requires a 

reason, explanation, or cause. Certain quantum events involving fundamental particles 

are completely causeless. For instance, in the double-slit experiment, scientists claim 

there is NO reason why the particle picks one slit rather than another when observed. In 

radioactive decay, scientists claim there is NO reason why a particular particle decays at 

a particular time. On the WHOLE, a compound will decay a certain approximate rate (i.e., 

it has a half-life), but PARTICULAR facts such as <Particle X decayed at time T> have no 

explanation. Finally, scientists tell us that particles can pop into existence, and in fact DO 

so in our own universe (for instance, near the perimeters of black holes). 

 

Reply: First, these events are only causeless on the Copenhagen interpretation of 

quantum physics. Others (i.e., those following the Bohm interpretation) are attempting 

to explain these events within a deterministic framework. 

 

Second, note that premise 1 of THIS argument does not make the strong claim that 

EVERY fact requires an explanation. Rather, it makes the much weaker claim that, only 

things that BEGIN TO EXIST require a cause. But, then, even if quantum physics DOES 

say that certain events are truly indeterministic (i.e., there is no sufficient reason for why 

a particle acts the way it does in certain circumstances), it does NOT postulate that 

particles can come into existence out of absolutely nothing. When you question a 

physicist, what most of them will REALLY say is that, at best, particles sometimes begin 

to exist due to certain quantum fluctuations in a near vacuum. 

 



3. Premise 2: The Universe Began To Exist: This premise is much more controversial. 

Craig attempts to support it in four different ways. 

 

(1) An infinitely numbered collection of actual things is impossible: First, Craig argues 

that there cannot be an infinite number of anything actual. But, if the past is 

beginningless, then it is infinite; and, if the past is infinite, then it there are an infinite 

number of past events.   

 

Craig argues that an infinite collection of anything actual is impossible, because (if it 

were possible) it would lead to a number of absurdities. To illustrate this, he uses the 

example of Hilbert’s Hotel: 

 

 Hilbert’s Hotel: Imagine that there is a hotel with an infinite number of rooms. 

Now, imagine that ALL of the rooms are full. Every room is occupied by exactly 

one person. What if someone were to come along and ask if there are any 

vacancies? 

 

We might think that such a hotel, since it is full, would have no vacancies. But the 

clerk at the front desk is easily able to accommodate the new guest in the 

following way: The clerk has everyone exit their rooms at once. She then assigns 

the guest from room #1 to room #2, and the guest from room #2 to room #3, 

and the guest from room #3 to room #4, and so on, so that every guest in the 

hotel moves to the next room over. 

 

Now, room #1 is vacant! With a finite number of rooms, this would be impossible. 

Say there are 10 rooms. The guest from room #9 goes into room #10, but where 

does the guest from room #10 go? That guest is left without a room, because 

THERE IS NO room #11. But, when the number of rooms is infinite, THERE IS NO 

LAST ROOM. So, no one gets cheated by the room swap. 

 

What is worse, the clerk could create an INFINITE number of vacancies in a similar 

way; for instance, she could assign the guest from room #1 to room #2, the guest 

from room #2 to room #4, the guest from room #3 to room #6, and so on, so 

that every guest goes to the even numbered room that is (their own room #) x 2. 

Now, all of the odd-numbered rooms are vacant. But, there are an infinite 

number of those! 

 

This example tries to demonstrate that an actual infinite cannot exist, since if it did it 

would lead to absurdities. Clearly it is absurd to think that we could create a vacancy in a 

completely full hotel merely by having the guests switch rooms! 



(2) An infinite collection formed by successive addition is impossible: Next, Craig argues 

that—even if an actual infinite is possible—an actual infinite can never be formed by 

successive addition. But, if the past is infinite, that is exactly what the past must be. Craig 

argues that, if the past were infinite, then an infinite number of successive moments 

have been traversed (i.e., an infinite number of moments have “streamed by” so to 

speak). But, if “traversing the infinite” were possible, it would lead to a number of 

absurdities. To illustrate this, he uses the example of the infinite counter: 

 

 Infinite Counter: Imagine that there has ALWAYS been The Count from Sesame 

Street. He has always existed, and as long as he has existed, he has been counting 

down. Today, he is about to reach zero. “Negative two!” he says. “Negative one!  

Zero!!! Ah ah ah!” (“Who is the Count?” you ask? Find him here.) 

 

Now, it seems clear that, if I begin counting up (“one, two, three…”), I will never reach 

infinity. One can never count TO infinity. But, why should it be any different in the other 

direction? How could one ever count FROM infinity? 

 

In this example, it seems like The Count would reach zero today, because (if the past is 

beginningless) there were an infinite number of moments before today. But, wait…  

There were also an infinite number of moments before YESTERDAY. So, it seems like The 

Count should have finished counting yesterday. But, wait… There were also an infinite 

number of moments before A YEAR AGO, or A BILLION YEARS AGO. In fact, no matter 

how far back in time we go, it seems like The Count should have ALWAYS ALREADY 

FINISHED counting (since, no matter how far back in time we go, there was always an 

infinite amount of time before that). But, that is absurd. Therefore, an infinite succession 

cannot be traversed. 

 

Objection: Arguments (1) and (2) seem to rely on some sort of trickery involving infinity, 

much like Zeno’s paradoxes (that “prove” that motion is impossible), which are obviously 

false (since things DO move, obviously). 

 

Reply: Zeno’s paradoxes are not analogous to the Hilbert’s Hotel and Infinite Counter 

paradoxes, for 3 reasons: 

 

 Zeno’s examples involve unequal increments, whereas Craig’s involve equal 

increments. 

 Zeno’s examples involve finite durations/distances, whereas Craig’s involve 

infinite times durations/distances. 

http://www.youtube.com/watch?v=B-Wd-Q3F8KM


 Zeno’s examples involve “potential” infinites (formed by successive division), 

whereas Craig’s involve “actual” infinites (since, if the universe is beginningless, 

then it is ACTUALLY infinite) 

 

(3) The universe is expanding: The last two reasons that Craig provides are scientific 

rather than philosophical. Recently, astronomers have discovered that the universe is 

expanding. Everything is getting further away from each other. If we rewound time, we 

might expect to see everything getting closer and closer to each other. But, rewind far 

enough, and there must be some starting point; some central point where everything 

began to expand. 

 

This is exactly what scientists propose. At some time in the past, the universe began to 

expand out of a point that was infinitely small and infinitely dense. That point is known 

as “the singularity” and the event when the universe began to expand is known as “The 

Big Bang.” The common interpretation of this event is that it is the beginning of all 

space, time, matter, and energy. The universe simply began to be. And before this event, 

there was nothingness. 

 

(4) The universe is running out of energy: The last point is closely connected to the 

previous. Scientists tell us that a closed system will always lose usable energy; i.e., it will 

tend to a state of equilibrium. Candles burn out; cars run out of gas; clocks eventually 

stop after you wind them up. This is known as “entropy.” 

 

Now, there IS a finite amount of usable energy in the universe, and the universe is NOT 

at equilibrium right now. But, scientists predict that, in billions of years, the universe will 

be a cold, lifeless, and static place; nothing but a homogenous, extremely sparse gas 

composed of elementary particles—and no change will ever occur again. That is, 

NOTHING WILL EVER HAPPEN AGAIN. Craig argues that, if the universe were infinitely 

old, it would have long since run out of usable energy, and would have long since 

reached equilibrium. Scientists concur. They say that the universe must have began 

some finite time ago. 

 

Objection: It seems like several of the models from astrophysics do NOT require that the 

universe had a beginning. For instance, the views that (1) The universe is cyclical (e.g., 

Big Bang followed by Big Crunch followed by Big Bang, etc.), (2) Inflationary (e.g., the 

universe “inflates” and new “bubble” universes form as space expands, or each black 

hole spawns a new universe, etc.), or (3) Spontaneously resulting from an eternal 

vacuum. 

 



Reply: There is no evidence for (1). In fact, it seems that this will not happen. 

Furthermore, entropy entails that we could not have had more than 100 previous 

oscillations. Again, entropy entails that (2) could not have been occurring eternally—

though some dispute this. (3) Cannot explain why, one day, the universe just popped 

into existence out of this primordial background. 

 

4. Conclusion: Craig concludes that the universe must have had a beginning. But, since 

everything that has a beginning requires a cause, the universe requires a cause that is 

OUTSIDE OF the universe! He speculates that such a cause would need to have the 

following features: 

 

 It transcends space and time (since it caused space and time) 

 It is changeless (because it is timeless) 

 It is not material (because it is spaceless) 

 It is uncaused (since nothing could have been “before” it) 

 It is incredibly powerful (since it caused the entire universe) 

 It is personal, (since: (i) An explanation is either scientific or personal, but the 

cause of the universe is beyond science, (ii) The only sorts of entities that 

transcend space-time are abstract objects—e.g., numbers—and minds, but 

abstract objects are causally inert, and (iii) An impersonal, timeless, changeless set 

of sufficient conditions for creation would have always already have spawned the 

universe) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Objections to the Kalam Cosmological Argument 
 

Draper raises several objections to Craig and Moreland’s Kalam argument: 

 

1. Equivocation: Here is the Kalam Cosmological argument again: 

 

1. Whatever begins to exist has a cause. 

2. The universe began to exist. 

3. Therefore, the universe has a cause. 

 

Draper accuses the above argument of “equivocating.” This is a fallacy that happens 

whenever the meaning of a term is used in two different ways in the premises of an 

argument. Consider the following: 

 

1. All chairs have 4 legs. 

2. Graeme Forbes is the chair of the department. 

3. Therefore, Graeme Forbes has 4 legs. 

 

On the face of it, this argument is valid. But, clearly, something has gone wrong here. 

Namely, the word “chair” is being used in different ways. Draper’s claim is that the 

phrase “began to exist” is being used in different ways as well. 

 

In premise 1 (Whatever begins to exist has a cause), the phrase “begins to exist” means 

something like “begins to exist WITHIN TIME.” However, according to most scientists, in 

premise 2 (The universe began to exist), “began to exist” should be interpreted as 

“began to exist WITH TIME.” That is, when the universe began, TIME ALSO BEGAN. So, 

there are no moments BEFORE the beginning of the universe. But, any universe that 

commits the fallacy of equivocation is invalid. 

 

Draper argues that it is not obvious that a universe that begins WITH TIME needs a 

cause. Consider a beginingless universe: There are no moments “before” the universe, so 

it doesn’t really make sense to ask what caused it. Similarly, there are no moments 

“before” a universe that began WITH TIME. So, it doesn’t seem to make sense to ask 

what caused it either. 

 

Reply: Recall that the theist will still want to invoke PSR even for the beginingless 

universe; so, it seems like she will also want to invoke it here. 

 

2. Infinite Counter: Draper states that it IS impossible to begin with a finite collection 

and obtain an infinite collection by successive addition. For instance, if I begin with a 



collection of 3 numbers, I cannot ever reach infinity by successively counting, “four, five, 

six …” However, if one begins with an INFINITE collection, it IS possible to obtain an 

infinite collection by successive addition. And, this is exactly what we have. At ANY point 

in the past, there is already an infinite collection that has existed before it. 

 

Reply: Does this miss the point? The question Craig asks seems to be, Is it coherent to 

say that we BEGIN with an infinite collection? 

 

3. Hilbert’s Hotel: There are two intuitive assumptions about collections of things: 

 

(1) A set always has more members than any of its proper subsets. 

(2) If the members of two sets can be placed in one-to-one correspondence, then 

those two sets have the same number of members. 

 

In the Hilbert’s Hotel example, the claim “There is an actually infinite set” seems to 

conflict with both of these claims. For this reason, Craig rejects the possibility of an 

actually existing infinite set. But, we could also just as easily reject one of the two above 

assumptions. 

 

Reply: For actual objects, we have VERY STRONG intuitions that the two above 

assumptions are correct, while our intuitions that there could be an actually infinite 

number of things is not very strong at all. It seems like the best practice, when faced 

with an inconsistent triad of assertions, is to reject the one that seems least intuitive. 

 

4. The Nature of Time: (1) First, on a B-theory of time, time is “static”. All times exist, 

and there is no “coming into being”. Sure, we EXPERIENCE time as passing, but really it 

does not. All times exist, forever and always. So, if the B-theory of time is correct, then, 

strictly speaking, the universe did not “begin to exist”. 

 

Reply: This confuses the word “begins”. As the A-theorist understands it, “begins to 

exist” means “comes into being”. But, the B-theorist has a perfectly intelligible way of 

understanding this term too—i.e., something like, “X exists at time t, at which there are 

no earlier times where X exists.” 

 

(2) Second, if the future actually exists, and never ends, then there are an infinite number 

of actually existing future events (this view is “eternalism”). In order to avoid this, Craig 

must reject the view that the future exists—but not all time-theorists think this is true. 

 

Reply: Craig would just insist that the view which says that the future ALREADY exists in 

some sense is mistaken. 



5. Conclusion: Even if we have not proved God’s existence with certainty, in light of 

the two cosmological arguments we have discussed, it is important to understand 

that, no matter what, we have only four options: 

 

 The universe has a beginning, but its beginning has no explanation at all. 

 The universe has a beginning, and this beginning is explained by some being 

outside of this finite series (i.e., God?). 

 The universe has always existed, and extends back in time infinitely, but the 

existence of this infinite series has no explanation at all. 

 The universe has always existed, and extends back in time infinitely, and this infinite 

series is explained by some being outside of the infinite series (i.e., God?). 

 

Realize that all of these options are CRAZY. But, there are no other options, and none of 

them are certain. No matter what, reality is apparently very strange. Whoa… 
 


